6.1

6.2

6.3
*6.4



*4,



6.1

AV







6.1.1

(T) 1T=1Whb/ 2



' [ 1(Wb) 1Wb=IT 2












6.1.2

2x105)

>>1 (



AV




()




1.8
1.6
14
1.2
1.0
0.8
0.6
0.4
0.2

«
IT 1 2 3 4 5 6 7 8 9 10x103
I(A] )
//%(
_c_/ c
b — | | b
////
//
////
////./
///a a
/ /(A )

01 02 0304 05 06 0.7 0.8 09 1.0x103
a b C



( =0)






(1)

2)

3)









11

1 1+

2

2 2...

2 2+t



(1)






6.2.2

)+ (=)

e



A 3
A 3
A )

2 2

[T]



6.2.3
<
1. A.)
A, = 2 K c
2. A r)






2) A

Il
(o]
Il
+
)



6.3.1

6.3



10.5kV 3':5: 220kV }.lg 10kV }lg

}lg 380/ Elg 36V



Bl



im




+—D

0.35mm

o.5mm



6.3.2




(1)










2)




AV







) o







120V
8Q2



2 2
_ | ;:( AL ) «800=45W
T 800 + 800
’ 120 Y
+ 800+ 8

= -




S.

1)
S J L —1000/10

(V)
( VA)



2)

IN 2N

IN

IN 2N



2)




6.3.3 <

2 2 2= (2)

A Y% =2 2 %100 %

20

5%



A c)

A r)

", oo,

T T E S T E SN VISP S VA A
P A A A A ]
I
NS AAA A XA AN NA SIS

95% , S0 75)% ,




6.3.4




«
110V
220V 110V
2 3 1 3 2 4
1 =43 + 17 T
110
220 2 2
3 3
4 4
220 110

“444 (2) “aa ()



>|
(220/110) <

1 110V

L




1



Aa






6.3.5










AV




